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MATHEMATICS (2025-26)  
CLASS – VI 

 

 

 

Name: Class/Sec:  Date:  

 

 
Q 1. What is the sum of 456 and 238 ? 

 

 
Q 2. What is the difference between 500 and 275 ? 

 

 
Q 3. What is the value of 565 ÷ 5 ? 

 

 
Q 4. What is the value of 150 × 50 × 0 ?  

 
Q 5. What is the next number in the series: 15, 30, 45, 60,  ?  

 
Q 6. How many sides does a rectangle have? 

 

 
Q 7. How many vertices does a triangle have? 

 

 
Q 8. What is the 2D shape with 4 equal sides called? 

 

 
Q 9. What is the sum of the first five even numbers? 

 

 
Q 10. How many minutes are there in 2 hours? 

 

 
Q 11. What is the place value of 3 in the number 7354 

 

 
Q 12. 1 metre =  centimetre 

 

 
Q 13. A book weighs 2 Kg. How much 3 books weigh? 

 

 
Q 14. A basket has 60 apples. If they are divided into 10 baskets, how many apples are in each 

basket? 

 

 
Q 15. What fraction of a pizza is left if you eat 3 out of 8 slices? 

 

 

 

 
Q 16. A meeting started at 9:15 AM and ended at 11:45 AM. How long did the meeting last? 

 



  

 
Q 17. Find the next term in the pattern 2, 4, 8, 16,   

 

 
Q 18. 𝟏 

+ 
𝟏 

= 
𝟐 𝟐 

 

 
Q 19. 

 

 

Write the name of the given 3 D shape. 

 

 
Q 20. 

 

 

Write the name of the given 3 D shape. 

 

 

 

Happy learning 

 

Q 1. Circle the bigger number. 

a. 1206, 1304 

b. 9220, 9120 

Q 2. Write the predecessor and successor of the given numbers. 

a.  , 569,   

b.  , 203,  



  

Q 3. Write the first 4 multiples of 15 

Q 4. How many counting numbers are there between 38 and 65? 

Q 5. Write the numbers that are divisible by both 5 and 10. 

Q6. Write the numeral for: 

20000 + 1000 + 700 + 60 + 5 =  . 

Q7. Which of the following number consists of 3 tens and 5 thousand? 
a) 5346 b) 5364 c) 3456 d) 5436 

Q8. Complete the pattern: 9, 18, 27, 36,  ,  ,  . 

Q9. 100 hundred =  thousand 

Q10. The simplest form of 𝟐𝟖 is 
𝟒𝟎 

Q11. Write the smallest 4-digit number and list all the factors. 
Ans: Smallest 4-digit number =   

Factors =   

 

Q12. Write the fraction of the shaded part for each shape: 

 

 

 

Q13. Find the missing factor in the factor tree: 

 

 
 

 

Q14. Sally walked 
3 

km before lunch and 
1 

km after lunch. How far did she walk in all? 
4 4 

1560 3215 7234 1552 5050 

 



  

Q15. Round off to 6759 the nearest tens. 

Q16. Write the numeral for: 

Eight million seventy-five thousand six hundred eighty. 

Q17. Write the predecessor of :25999 

Q18. Write the place value of the underlined digits in the following numbers: 

287960:   

Q19. Place commas correctly and write the numerals: 

Seven lakh twenty thousand five hundred eighty. 

Q20. Build the greatest and smallest 5-digit number      

 using the digits shown in the figure. 
 

Ans: 
4 

 

9 
 

0 

 Greatest number:        

 

Smallest number:   
 7  3  

 

Happy learning 
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MATHEMATICS (2025-26)  

BRIDGE COURSE FOR CLASS – VII 

 

 

 

Name: Class/Sec:  Date:  

Q 1. Fill in the blanks: 

(𝑎) (−8) +  = (+1) 

(𝑏) (−50) +  = 0 

(𝑐) (−10) − (+10) =   

Q 2. Below figure is a number line, representing integers. Observe it and locate the following 

points: 
 

 

 

a) If point D is +8, then which point is -8? 

b) Is point G a negative integer or a positive integer? 

c) Which point marked on this number line has the least value? 

Q 3. Write three equivalent fractions of 
2
. 

3 

Q 4. Simplify: (a) 10 − 12 − 3 + 12 

(b) 
5 

− (− 
7 

) 
64 32 

Q 5. i) Write all the factors of 28. 

ii) Write the first five multiples of 9. 

Q6. Neha finished colouring a picture in 
7  

hour. Kiran finished colouring the same picture in 
3 

12 4 
hour. Who worked longer? By what fraction was it longer? 

Q7. Write the following integers in the descending order: 

a) −15, 0, −2, −9, 7, 6, −5, 8 

b) −154, 123, −205, −89, −74 



  

Q8. Multiply: 1078 × 15 

Q9. Write the number of integers between −26 and – 2. 

Q10. 
Find the missing factor in the factor tree: 

 

 
 

Q11. 
Compare with >, < or = sign. 

a. -15 25 

b. (-500) (−850) 

Q12. The simplest form of 𝟑𝟔 is 
𝟒𝟖 

 

Q13. 

Find Prime factors of given numbers: 

i) 250 

ii) 132 

Q14. In the below figure, a line is drawn through the middle of the rectangle. Answer the following 
questions: 

 

a) Area of the rectangle= . 

b) Area of the shaded part= . 

 

Happy learning 

 



  

 

 

 

Q 1. 

Write three equivalent fractions of 
4 

. 
7 

 

 

 

 

 

Q 2. 

Put the given fractions in the right bag: 
3 

, 
5 

, 
10 

, 
12 

, 
2 

, 
8 

4 2 10 8 3 8 
 

   

 

 

 

 

 

Q 3. 

Subtract the sum of 2590 and 3985 from the product of 1980 and 4. 

Ans: 

Q 4. Multiply: 3478 × 29 

Q 5. Solve: 122 + 361 – 287 −(−110) 

Ans: 



  

Q6. Amy prepared 
3 

cup of chopped garlic and her mother had already prepared 
1 

cup of chopped 
7 3 

garlic for making pasta. Find the total amount of chopped garlic prepared by Amy and her 

mother. 

Ans: 

Q7. Divide and find the quotient (Q) and Remainder (R): 70298 ÷ 35 
 

 

 

 

 

 

 

 

 

Q=  R=   

Q8. i) Write all the factors of 32: 
 

 

 

 

ii) Write the first five multiples of 7: 

 

Happy learning 

 

 

 

 

 

 

 



  

 

Q 
 

1. 

Find the additive inverse of: 

i. − 68 
ii. +13 

 

(iii) 0 
(iv) −2001 

Q 2. The greatest negative integer is: 

Q 3. Write the number of integers between −36 and – 12. 

Q4. Evaluate: 23 – 17 – 45 

Q 5. Fill in the blanks: 

(𝑎) (−4) +  = (+1) 

(𝑏) (−23) +  = 0 

(𝑐) (−4) − (+4) =   

(𝑑) (−8) +  = (−6) . 

Q6. List all integers between: 

(𝑎) − 35 𝑎𝑛𝑑 – 30 

(𝑏) − 5 𝑎𝑛𝑑 0 

Q7. Compare with >, < or = sign. 

 
a. 0 −25 

 
b. (−456) (−943) 

 
c. (– 5) + (– 7) (– 5) – (– 7) 

 
d. (– 23) + (–6) (– 17) – (– 6) 

Q8. Write the following integers in the ascending order: 

a. −67, 95, −33, −601, 215 
 

 

b. 34, −236, −16, 16, 0, −40, −71 



  

Q9. Find the sum of the pairs of integers: 

(a) −26, −34 (b) +53, −20 

      
 

(c) +74, −50 

Q10. Compute each of the following: 

(a) 40 + (−15) + (−20) (b) 80 + (−20) + (−10) 
 

Q.11 Adjacent figure is a number line, representing integers. Observe it and locate the following 
points: 
 

 

i) Write integers for the points A and H 
 

ii) Write the integer of the point G and write its predecessor. 
 

iii) Find the integer which is the sum of the points E and B. 
 

iv) Arrange the given letters in descending order according to their values. 

Q12. Simplify: 

(𝑎)(−198) + (−182) − (− 350) 

(𝑏)(−127) − (−186) − 30 

 

Happy learning 
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SUMMER VACATION HOLIDAY HOMEWORK 

CLASS: 8                                                                                     SUBJECT: MATHS 

1. What is Natural Numbers? Write with examples. 
2. What is Whole Numbers? Write with examples. 
3. What is Even Numbers? Write with examples. 
4. What is Odd Numbers? Write with examples. 
5. What is Prime Numbers? Write with examples. 
6. What is Composite Numbers? Write with examples. 
7. Solve: i) 12 ÷ 2 × 3 – 5     ii) 100 ÷ 10 - (3 × 2 + 4) 

Iii)    2(3 + 7) – 52 ÷ 5                                    iv) 7 - 3(22 + 1) + 8. 
8. What is fraction? Write with examples. 

9. Add: i) 
51

12
+

15

12
                      ii)

5

12
+

7

11
                                   iii) 2

5

7
+ 3

4

5
 

 

10. Subtract: i) 
65

19
−

51

19
             ii)

5

7
−

6

11
                                     iii) 8

3

7
− 3

5

6
 

11. Multiply: i) 
35

17
×

21

23
               ii)

15

17
×

16

13
                                 iii) 3

2

5
× 3

1

7
 

12. Multiply: i) 
35

17
×

21

23
               ii)

15

17
×

16

13
                                   iii) 3

2

5
× 3

1

7
 

13. Divide: i) 
11

17
÷

11

17
                ii)

7

11
÷

9

13
                                   iii) 1

2

5
÷ 4

2

5
 

 

14. Find:    
2

5
× (−

3

7
) −

3

7
×

3

5
 

15. What is Polygon? Draw figures and write their names. 
16. A person crosses a 600 m long street in 5 minutes. What is his speed 

in m per second? 
17. Mohan crosses a 960 m long street in  8minutes. What is his speed in 

m per second? 
 

18. Raju earns Rs16000/month. He spends 
1

4
 of his income on food, 

1

5
 of 

the remainder on house rent and 
3

10
 of the remainder on education of 

children. How much money is still left with him? 
19. A drum full of rice weights 4016 kg. If the empty drum weights 1334 

kg, find the weight of rice in the drum. 
20. The present age of Sahil’s mother is three times the present age of 

Sahil. After 5 years their ages will add to 66 years. Find the present 
ages of Sahil. 
 



PM SHRI KENDRIYA VIDYALAYA DHARMAPURI 

SUMMER VACATION HOLIDAY HOMEWORK 

CLASS: 9                                                                                      SUBJECT: MATHS 

 

1. Find six rational numbers between 3 and 4 
2. Find six rational numbers between 3.5 and 4.5 

3. Find six rational numbers between 
5

7
 and 

8

9
 

4. Show how √5 can be represented on the number line. 
5. Show how √6 can be represented on the number line. 

6. Express the following in the form  
p

q
 where p and q are integers and q  0. 

i) O.09090909……… 
ii) 1.34343434………. 
iii) O.47777777………….. 
iv) 0.011111111…………….. 
v) 5.345345345345…………. 

7. Find three different irrational numbers between the rational numbers 
5

7
 

and 
6

7
 

8. Find three different irrational numbers between the rational numbers 
3

8
 

and 
5

8
 

9. Find three different irrational numbers between the rational numbers 
1.34 and 2.45 

10. Write five numbers whose decimal expansions are non-terminating non-
recurring. 

11. Add:       i )  5 ( √3 + 2) + 2(3 +√3 )                   ii )  2 ( √27-4) + 3 (√3-5) 
         i i i )  5 ( √3 + 2√2) + 4(√2-3√3 )         iv )  2 ( √7-4√3) + 3 (√28-5√3) 

12. Multiply:    i )  5 √3 × 3 √5                              ii )  2 √7 × 3 √56 
            i i i )  2 √13 × 3 √52                        i v )  8 √27 × 3 √3 

13. Divide:  :    i )  9 √15 by 6√5                            ii )  2 √70 by 3 √56 
             i i i )  6 √32 by 3 √8                       i v )  1 5 √26 by 3 √52 

14. Find:           i)23/4 × 21/4                                      ii) 73/7 × 143/7:           
                   iii)163/4 × 641/4                                iv) 322/5 × 82/3 
 

15.  Solve:       ( √7-√3) (√7+√3) 



16.  Solve:         ( √2+√3)2 + ( √2-√3)2 
17.  Solve:         ( √5+√3) (√2-√7) 
18. Write the following in decimal form and say what kind of decimal 

expansion each has: 

i) 
6

7
                                 ii) 

35

50
                           iii) 

56

35
                                iv) 

170

34
 

v) 
55

80
                              vi) 

5

11
                          vii) 

15

13
                              viii) 

65

260
 

19.  Find the value of the polynomial  5x – 4x2 + 3 at x = 2 and x = –1. 
20.  Write the coefficient of x2 in each of the following: 

i) X3-2x2+8x-17                     ii) 7x-10                      iii) 4x4+9x2-x(3x-5) 
 
 

 
 

 



1   
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DHARMAPURI 

Class X – Real Numbers 

 

Questions of 1 mark each 

Q.1. If a and b are two consecutive natural numbers then the HCF (a, b) is 

A 1 B 2 C ab D a + b 

Q.2. If two positive integers a and b are written as a = 𝑥3𝑦2 and b = 𝑥𝑦3; x, y are prime numbers, then 

HCF (a, b) 

A 𝑥𝑦 B 𝑥𝑦2 C 𝑥3𝑦3 D 𝑥2𝑦2 

Q.3. The product of the HCF and LCM of the smallest prime number and the smallest composite number is 

A 2 B 4 C 8 D 16 

Q.4. In a formula racing competition, the time taken by two racing cars A and B to complete one round of 

the track is 30 minutes and p minutes respectively. If the cars meet again at the starting point for the 

first time after 90 minutes and the HCF (30, p) = 15, then the value of p is  

A 45 minutes B 60 minutes C 75 minutes D 180 minutes 

Q.5. If HCF of 65 and 117 is expressible in the form 65m – 117, then the value of m is 

A 4 B 2 C 8 D 6 

Q.6. If 𝑝2 = 
32

, then p is a/an 
50 

A whole 

number 

B integer C rational number D irrational number 

Q.7. What is the largest number that divides 245 and 1029, leaving remainder 5 in each case? 

A 16 B 15 C 9 D 5 

Q.8. The LCM of two co-prime numbers is always the 



2   

A Sum of the 

numbers 

B Difference of the 

numbers 

C Product of the 

numbers 

D 1 

Q.9. For the given factor tree 

 

 

 

 
A a = 5, b = 13 B a = 13, b = 5 C a = 65, b = 13 D a = 5, b = 15 

Q.10. The LCM of 23 × 32 and 22 × 33 is 

A 33 B 23 C 23 × 33 D 22 × 32 

ASSERTION AND REASONING 

 
DIRECTION: In question numbers 11 and 12, a statement of Assertion (A) is followed by a 

statement of Reason (R). Choose the correct option 

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of 

Assertion (A) 

(b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of 

Assertion (A) 

(c) Assertion (A) is true but reason (R) is false. 

(d) Assertion (A) is false but reason (R) is true. 

Q.11. Assertion: The HCF of two numbers is 16 and their product is 3072. Then their LCM = 162. 

Reason: If a, b are two positive integers, then HCF (a, b) x LCM (a, b) = a x b 

Q.12.  
 

Assertion: √7 is an irrational number. 

Reason: A square root of a prime number is always an irrational number. 

Questions of 2 marks each 



3   

Q.13. Can two numbers have 18 as their HCF and 380 as their LCM? Justify your answer. 

Q.14. The HCF of two numbers is 23 and their LCM is 1449. If one of the numbers is 161, find the other. 

Q.15. Explain why (17 x 11 x 2 + 17 x 11 x 5) is a composite number. 

Q.16. Three bells ring at an interval of 4, 7 and 14 minutes. All three bells rang together at 6am, at what time 

will the three bells ring together next? 

Questions of 3 marks each 

Q.17. Find the smallest number which when increased by 17 is exactly divisible by 520 and 468. 

Q.18. 
In a school there are two sections, namely A and B, of class X. There are 30 students in section A and 

28 students in section B. Find the minimum number of books required for their class library so that 

they can be distributed equally among students of section A or section B 

Q.19. Aakriti decided to distribute milk in an orphanage on her birthday. The supplier brought two milk 

containers which contain 398 litres and 436 litres of milk. The milk is to be transferred to other 

containers so that 7 litres and 11 litres of milk is left in both the containers respectively. What will be 

the maximum capacity of the measuring drum? 

Questions of 5 marks each 

Q.20. 
 

  

Prove that √5 is an irrational number. Hence prove that 2 – 3√5 is an irrational number. 

Q.21. National Art convention got registrations from students from all parts of the country, of which 60 are 

interested in music, 84 are interested in dance and 108 students are interested in handicrafts. For 

optimum cultural exchange, organizers wish to keep them in minimum number of groups such that 

each group consists of students interested in the same artform and the number of students in each group 

is the same. Find the number of students in each group. Find the number of groups in each art form. 

How many rooms are required if each group will be allotted a room? (CFQ) 



  

Case study question (4 marks) 

Q.22. February 14 is celebrated as International Book Giving Day and 

many countries in the world celebrate this day. Some people in 

India also started celebrating this day and donated the following 

number of books of various subjects to a public library: 

History = 96, Science = 240, Mathematics = 336. 

These books have to be arranged in minimum number of stacks 

such that each stack contains books of only one subject and the 

number of books on each stack is the same. 

 

 

 

 

Based on the above information, answer the following questions: 

(i) How many books are arranged in each stack? 

(ii) How many stacks are used to arrange all the Mathematics books? 

(iii) (a) Determine the total number of stacks that will be used for arranging all the books. 

(b)If the thickness of each book of History, Science and Mathematics is 1·8 cm, 2·2 cm 

and 2·5 cm respectively, then find the height of each stack of History, Science and 

Mathematics books. 

 

 

ANSWERS 

Q.1 A Q.2 B Q.3 C Q.4 A Q.5 B 

Q.6 C Q.7 A Q.8 C Q.9 A Q.10 C 

Q.11 d Q.12 a Q.13 No, because 18 is 

not a factor of 380. 
Q.14 207 Q.16 6:28am 

Q.17 4663 Q.18 420 Q.19 17 litres Q.21 HCF = 12 

5,7,9,21 
Q.22 (i) 48 (ii) 7 

(iii) 14 

(iv) 86.4cm, 
105.6 cm, 120cm 
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POLYNOMIALS 
Class X  

 

 

 Questions of 1 mark each. 

1 If one of the zeroes of the quadratic polynomial (k−1) x2 +kx+1 is (−3), then find the value of k 

2 The sum of the zeroes of the quadratic polynomial 3x2 – kx + 6 is 3, then find the value of k 

3 Find the quadratic polynomial whose zeroes are √2 and 2 √2. 



  

4 If zeroes of the polynomial x2 + 4x + 2a are 𝛼 and 2 , then the value of a is 
𝛼 

5 If p and q are the zeroes of the polynomial p(x) = 2x2 - 7x + 3, then the value of p2 + q2 is 

 Questions of 2 marks each 

6 If α and β are the zeroes of the polynomial f(x) = 2x2 – 4x + 5 then find the value of α2 + β2 

7 If α, β are the zeroes of the polynomial f(x) = x2 – 5x + k such that α – β = 1, find the value of k. 

8 If 𝛼 and 𝛽 are the zeroes of the quadratic polynomial f(x) = x2 - p(x+1) - c, show that 

(𝛼 +1) (𝛽 +1) =1-c 

9 Find the value of ‘k’ such that the quadratic polynomial x2 - (k+6) x + 2(2k+1) has sum of the zeros is 

half of their product 

10 Find the zeros of the polynomial p(x) = 4√3 x2 + 5x - 2√3 and verify the relationship between the zeros 

and its coefficients 

11 Find the value of ‘k’ so that the zeroes of the quadratic polynomial 3x2 – kx + 14 are in the ratio 7:6 

 Questions of 3 marks each 

12 If the Zeroes of the Quadratic Polynomial 6x²- 3 - 7x are α and β then find the quadratic polynomial 

whose zeroes are 𝛼 and 𝛽 
𝛽 𝛼 

13 If 𝛼, and 𝛽 are the zeros of the polynomial f(x) = x2 + px + q, then form a quadratic polynomial whose 

zeros are ( 𝛼+ 𝛽)2 and ( 𝛼 - 𝛽)2 

14 If one zero of the polynomial 3x2 – 8x + 2k +1 is seven times the other, then find k 

15 If the Zeroes of the Quadratic Polynomial x² + 4x + 3 are α and β then find the quadratic polynomial 

whose zeroes are 1 + 𝛼 and 1 + 𝛽 
𝛽 𝛼 

 



  

 

A
n
sw

er
s 

1 4 
 

3 

2 9 3. 
 

 

x2 − 3√𝟐x + 4 4 1 

5 37 
 

4 

6 -1 7 6 8 
 

9 5 10 
 

 

11 117 12 18x2 + 85x + 1 

13 
 

 14 2/3 15 3x2 - 16x + 16 
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DHARMAPURI  

Quadratic Equations 

 

Q. 

No 

Questions of 1 Mark each. (MCQ’s) 

1. The quadratic equation x2- 4x + 3√2 has: 

 
A 

two distinct real 

roots 
B two equal real roots C no real roots D 

more than two real 

roots 

2. 
The polynomial equation x (x + 1) + 8 = (x + 2) (x – 2) is: 

 
A Linear B Quadratic C Cubic D Bi-quadratic 

3. The equation 2x² + kx + 3 = 0 has two equal roots, then the value of k is: 

 
A 

 
 

±√6 B ± 4 C 
 

 

±3√2 D 
 

 

±2√6 

4. 
The non-zero roots of the equation x2+3x+k=0 are in the ratio of 2:1. The value of k is: 

 

A 
 

0 

 
B 

 

3 C 
 

2 D 1 

5. The roots of quadratic equation x2 – 0.09 = 0 

 A +3, -3 B -0.3, +0.3 C 12, +3 D (2, -4) 

6. Let p be a prime number. The quadratic equation having its roots as factors of p is: 



  

 A x2- px + p = 0 B x2- (p+ 1)x + p = 0 C x2+ (p+ 1)x + p = 0 D x2- px + p + 1 = 0 

7. Which of these is a quadratic equation having one of its roots as 0? 

 

i) x3+ x2= 0 

ii) x2 - 2x = 0 

iii) x2 – 9 = 0 

 
A Only i) B Only ii) C Only i) and ii) D Only ii) and iii) 

8.  

         

9. A lad was asked his age by his friend. The lad said, “The number you get when you subtract 25 times my age 

from twice the square of my age will be thrice your age.’’ If the friend’s age is 14, then the age of the lad (in 

years) is: 

 
A 21 B 28 C 14 D 25 

10.  
 

The positive root of √3𝑥2 + 6 = 9 is: 

 
A 3 B 1 C 81 D 5 

 DIRECTION: In the following questions, a statement of assertion (A) is followed by statement of Reason (R). 

Choose the correct option 

 (a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of assertion (A) 

 

(b) Both assertion (A) and reason (R) are true and reason (R) is not the correct explanation of assertion (A) 

 

(c) Assertion (A) is true but reason (R) is false. 

 

(d) Assertion (A) is false but reason (R) is true. 

11. Assertion: The equation 9x2 + 3kx + 4 = 0 has equal roots for k = ±4. 

Reason: If discriminant of a quadratic equation is equal to zero then the roots of equation are real and equal. 



  

12. Assertion: Every quadratic equation has at most 2 roots. 

 

Reason: Every quadratic equation has at least one real root. 

 Section B consists of 5 questions of 2 marks each 

13. Find the roots of quadratic equation by factorisation: √2x2 + 7x + 5√2 = 0. 

14. Find the roots of the equation x2 + 7x + 10 = 0 by using quadratic formula. 

15. For what values of k, the roots of the equation x2 + 4x + k = 0 are real? 

16. In a cricket match, Harbhajan took three wickets less than twice the number of wickets taken by 

Zahid. The product of the number of wickets taken by these two is 20. Represent the above situation in 

the form of quadratic equation. 

17. 3 
The sum of two numbers is 15. If the sum of their reciprocals is , find the two numbers. 

10 

 Section C consists of 6 questions of 3 marks each. 

18. 
Solve for x: 

1 
 

𝑥−2 

2 
+ 

𝑥−1 
= 

6 
 

𝑥 
; x ≠ 0, 1, 2 

19. The product of two positive consecutive odd numbers is 483.Find the numbers. 

20. If Ritu were younger by 5 years than what she really is, then the square of her age would have been 11 

 

more than five times her present age. What is her present age? 

21. Solve for x: 9x² – 6px + (p² – q²) = 0 

22. Find the values1 of k for the following quadratic equation, so that the roots are equal. 

 

x2 – 3 (k + 1)x + 12k = 0 

23. If 𝛼 and 𝛽 are roots of the quadratic equation x2 – 7x + 10 = 0, find the quadratic equation whose roots are 

𝛼2 and 𝛽2. 

 Section D consists of 2 questions of 5 marks each. 



  

24. To fill a swimming pool two pipes are used. If the pipe of larger diameter used for 4 hours and the pipe of 

smaller diameter for 9 hours, only half of the pool can be filled. Find, how long it would take for each pipe to fill 

the pool separately, if the pipe of smaller diameter takes 10 hours more than the pipe of larger diameter to fill the 

pool? 

25. In a flight of 600km, an aircraft was slowed down due to bad weather. Its average speed for the trip was reduced 

by 200 km/hr from its usual speed and the time of the flight increased by 30 min. Find the scheduled duration of 

the flight. 

26. A  2- digit number is such that the product of the digits is 14. When 45 is added to the number, the digits are 

reversed. Find the number. 



 

 Case Study Based Question 

27. There is a triangular playground as shown in the below figure. Many children and people are playing 

 

and walking in the ground. As we see in the figure, in the given right - angled triangle playground, the length of 

the sides are 5x cm and (3x – 1) cm and area of the triangle is 60 cm2. 

 

 

 

Based on the above situation, answer the following questions. (i)Write 

the quadratic equation for the above situation. 

(ii) Find the value of x. 

 

(iii) Find the length of AC. 

 

(iv) Find the length of the sides of the triangle. 

 
Answers 

A
n

sw
er

s 

1 A 2 A 3 D 4 C 

5 B 6 B 7 C 8 A 

9 C 10 D 11 a 12 c 

13 
−5 

-√2, 
√2 

14 -5, -2 15 k≤ 4 16 2x2 – 3x – 20 = 0 

17 10, 5 18 
4 

, 3 
3 

19 21, 23 20 14 yrs 

21 
𝑝 + 𝑞 𝑝 − 𝑞 

, 
3 3 

22 1, 3 23 x2 – 29x + 100 = 0 24 20 hrs, 30 hrs 

 

25 

 

1 hr 

 

26 

 

27 

 

25 

(i)3x2 – x – 24 = 0 

 

(ii) 3 cm (iii) 17 cm (iv) 15 cm, 8 cm, 17 cm 

 


